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f)  Provide two differences between substitute and

ECONOMICS
complementary goods.
[HONOURS]
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Full Marks : 60 Time : 21 Hours g)  What is meant by Marginalism?

The figures in the right-hand margin indicate marks. Marginalism 3eT0e & IR ?

Candidates are required to give their answers in h) Distinguish between Microeconomics and

their own words as far as practicable. .
Macroeconomics.

Microeconomics €38 Macroeconomics-d3 (Kj

AL @1 |
1. Answer any ten questions: 2x10=20 1)  Write the major differences between positive
(- (PICeT! v 2Ieeit Tee i ¢ and normative economics.
a)  When can we say that a consumer is rational? Positive economics €<% Normative economics
T S GG (S Rational Ie10e “if 2 -G 30 o1 AL (T
b)  What are the fundamental economic questions? j)  Write the Transitivity Axiom and Completeness
wrsifon s/ el / e e s o Axiom.

Transitivity Axiom 4% Completeness Axiom

c)  Write the names of three important schools of "
(G

thought of the discipline of Economics.
LIS =iz foals wwes)d wifes (oidia as @14 |

d)  What do you mean by market supply curve?
AT 9N (A TS BRI 2

k)  What do you mean by producer’s surplus?

TRoAMTE TFE I AT 2
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What is the shape of the demand curve in case
of Giffen goods?

folcere wCrd Ce Bifwt (@4 Sipls (e 2

When the price of a good is % 10 per unit, the
consumer buys 11 units of that good. When the
price rises to T 15 per unit, the consumer
continues to buy 11 units. calculate price

elasticity of demand.

G 7@ W T 10, sifewl 11 @, @2 wis 361
7 15 g oifzvl w2 widie 11 units-2 A | GCEFCE
7167 viNsie Zfozieimel 54|

n)  Why is the Iso-Cost line a straight line?
AN (A I AR 2 (o1 ?
o) What is the shape of AFC curve?
AFC (K PO (F 2
2. Answer any four questions: 5%x4=20
@I GRS 2eeie Tes 7S ¢
a) Following the outbreak of Covid-19,
Government of India announced a strict
lockdown. In this situation, what could happen
to the supply of a necessary commodity which
is not easily available in your state of domicile?
118/Eco (3) [Turn Over]

b)

118/Eco

What should be the impact on demand for that
commodity? As a consequence of these changes
what would happen to equilibrium price? Justify
your answer using economic logic and with the

help of graph. 1+1+3=5
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Consider a student from financially poorer

background. Her college fees are waived and she
stays at a friend’s house. Suppose, she mainly
spends on two items — Food (F) and Telecom
Services (T), including talk time and internet
services. She gives private tuition and earns Rs.
2000/- per month. The price of food (P,) is Rs.
20/meal and the price of telecom services (P,)

is 100/recharge.

1)  Draw the budget line for her and identify
the feasible set. 1

(4)
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i1)  What happens to her budget line if price
of food increases to 25/meal (show it
graphically)? Consequently, does her

feasible set increase or decrease? 1+1

ii1)  Since the price of food has increased, she
increased the number of students she
teaches as a private tutor. What would
happen to her budget line in that case?
Justify your answer with the help of graph.

2
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d)
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Answer the following questions:

Sva emiafers Teg wies

1)  Mathematically derive the slope of an

Indifference Curve and explain its

economic meaning. 2
(e oimfod ARy R @ Blel (@&
39 GR @ S A wie |

i1) Mathematically derive the slope of a
budget line and explain its economic
meaning. 2
sNffe “Mfox AR ST (A Bl (I
T 9 ETvR wiLfefes il wis |

ii1)) When does a consumer reach equilibrium?

1
OFG (S| FL SIIARY SRER (=T 2

If the equation for market demand and market

supply curves are Q, = 20-5P and Q.= 5P

respectively, find out consumer's surplus and
producer's surplus with diagram. 3+2=5

AW ifEnl @218 @el @ A9l Q) = 20-5P

R Q= 5P, OF (FOI TF86 ¢ TLAM(HS THE

[BRRE S
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e) Answer the following questions:

Sva emiafers Teg wies

i)  Define point elasticity of demand and state
its range for a straight-line demand curve.
3

fmy fefogioimel S @l et @R oifEwl
@ ey REfogiormom anfe fefze 521

i1) Find out the relations between Total
Revenue, Marginal Revenue and price

elasticity of demand. 2

G =117, 2Alfe< =7 @ nisre fFiezivmeia T

TS 2
f)  How is the curvature of an isoquant related to
the Marginal Rate of Technical Substitution
(MRTS)? If Marginal Product of Labour (MP)
is 30 units and MRTS is Y4 what is the value of
Marginal Product of Capital (MP,)?  3+2=5
AN-TeAMA (FLF TSl @3 MRTS -7 S0y 72
f& 2 7ft MP =30 2&{6 ¢ MRTS=V4 ©( MP, =?

3. Answer any two questions: 10x2=20
@I 7B &0sE e e ¢
a)  Answer the following questions:

pa emiafers Teg wies

118/Eco (7) [Turn Over]

118/Eco

iif)

What is meant by convexity of preference?
1

A TEETO! FE0S F (QIR_NT 2

What is the economic meaning of the word
‘indifference’ in the concept of

Indifference Curve? 1

o @I’ — [N Sy Faers =wba
Gfifes wleod 2

How would the Indifference Curve look
like if we have the following two
commodities — (1) mobile phone and (2)
mobile phone charger? Draw the
corresponding indifference map.

1+1=2

T S I 76 21407 AF — (5) GIZa
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Suppose there are two commodities, X
and 'Y with prices P, and P,.. Can you think
of a situation, where the consumer’s utility
would be maximized when she/he would
consume only X and no Y? Give economic

reasons behind such situation and

(8)



b)
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demonstrate it graphically. What change
may cause the consumer to shift from
consuming only X and no Y to the reverse,

consuming no X and only Y? 4+2
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Answer the following questions:

Aeow el T nies
i)  What is the Law of Diminishing Marginal
Utility? 2

TP e CoifaeR s 52

i1)  What is the Equimarginal Principle? 2
Equimarginal Principle 3¢ & @RI 2

iii)) Using the above two ideas derive the

demand curve for a commodity and also

(9) [Turn Over]

d)
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explain why demand curves slope

downward? 6

TR Qe 7o AR GH0 A @l
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Explain diagrammatically the relation between
SR and LR total cost curves. 10

=\
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Explain the difference between returns to factor

and returns to scale. 10

Returns to factor @3 returns to scale -93 Xy
N SO 4|

(10)



